N of reco track vs dxy [N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

1%} F g F an [%]
g f g . g g
=0°F =10°F s s
E <] E L
E s f £° &
10°F 1 £
3 . . 3 >
F . . E kel
wl IR 10°L 102
i P i 10
10%F [EEbh 10%F
E - E 10
10F seed 10F “ﬂ
b : b 4
§ 4 it - L - . 1
i L IRTES B 2T | ’gl i
= o —\ 00T — — —
g 1T == BaV-BseikBeReaieti—EIsha s rkasclts RhED, o
24 o v T T v T p T 2
0.9F - q.- o.9F-F+- J-FH+ I 0.4
o8-k = -1 EH= A = oHE- {CR - - <1 - - o8f-f -5} HH+ T : : k 1 0.6
0'—'25—20—15—10 -5 0 5 10 15 20 25 O'—'25—20—15—10 -5 0 5 10 15 20 25 0'—“25—20—15—10 -5 0 5 10 15 20 25 -25-20-15-10-5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
i L L 2
S S S S
g8 g g g
[ 3 Q
=] £° &
=
=}
=l
10?
10
10
1
M 1 °
. ] =15
“}} -t 2
: | S | : “H“ L e LP Ao
%[ T20 10 0 0 20 30 0936 =20 =10 0 10 20 30 %86 =20 -10 0 0 20 30 -30 -20 -10 0 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


